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1 | xosm [T ]~[ 7 | e TikEsmEmidRE AL &,

(1) (logzx)(logs9x) —6loggxr —6 =0 %iifi/=9 z DIz TRTRkDB &, Thb.

(2) FEAESEmE Ri2s AL, 1), B(@3, 7), C(—1, B)»Hhd. 2ok X, HCEZ@YEMRABLERT D ER
DHfEREy=[ 7 ] Ths.

(3) B B HBRR (1 +0)22— G+DT+6—20 =0 &iATEE, 2= [ 0 | Thd. ~EL, i12EH
HAE 35,

(D) 0<0< -5 2¥5. tanfd=TDL ¥, sinf = Th5.

(5) 3OMIN A% B BIT 2L %, 7= BOB/MEN 5 & 75 3 Rk Ths.

(6) BRXP(x)=x34+ax’+br+cld 2z’ —3x+2TEH->-LXORYN 22 +7THY, BHky=P(x)
Fr=1THif2Ld. Zor¥ a=[ 7 |, b=[*], c=[7 | Th5.

(D |a|=2 |b|=3 |a+0b|=VE0c%, a-b=[7 | Tha.

(8) Eity =2r+EkPMa?—2x+y? =0 HAREEOLE, <k< Thd.




